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A Normall Distrik')ution has a mean of 30 and a standard deviation of 6.
Draw and label the Normal model.

¥ 24 20
What is the probability that the selected olue falls between 24 ond
P2 X e 30y = o3 +.54 j:w{

What is the probability 1h01 he selected x v Iue falls between 12 ond

12 £X £ 29) =035 1,35 = @2)

d) What is the probability ’rhof e x value is at least 182 :
z\K\ = 35 +.344.8Y4.135, 0285 F,0005 = ).%5)
e) Whatis the probability th hexvclue is at mos’r 422
E;( £Yyr) \ Q15 |
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Airport Temperatures. The ’remperu’rure is recorded at 60 airports in.a region. The average
temperature isié? Eﬂegrees Fahrenheit with standard deviation ofiS %egrees. What is the

probability that the ’remperc:’re at a randomly selected airport is no more than 68 degrees?
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Pregnancy Durations. Data from the National Vifal Statistics System reveal that the distribution of
the duration of human pregnancies is approximately Normal with o‘mean of[270 doys nd a
standard deviation of 17 days. Use this Normal model to determine the proportion o
pregnancies that come to term (have a duration of) in

Less than 244 days (approximately 8 months) V( 2 7‘1 “B Y\O(()F\l%dg( \rqq ZLH e ”)

More than 275 d tely 9 month {
oo e i S{(;(pgr% Ofy\’lngv:(cs\)(\tﬂbl “-qc‘ 210, 1) =1, 5843
More than 300 d '
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Between 260 and 280 days
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Library Books. Books in the library are found to haveloveroge length of 350 pages|with standard
deviation of 100 pages. What is the probability that a randomly selected book will be@o poges >

P(x £80) = nowmed (-1 99, 10,350,108) = [ oc%]
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5. Birth Weights. Birth weights of babies in the U.S. can be modeled by a normal distribution with
‘meon of 3300 grams fabout 7.3 pounds) and standard deviation of 570 grams (about 1.3
1 - ?)))()b pounds). Babies weighing less than 2500 grams (ClbOUT 5.5 pounds) are considered to be of low

birth weight.
510

(S - a) Sketch a normal distribution curve for the birth weights of U.S. babies and shade the area under
the curve that corresponds to the probability that a baby will have a low birth weight.
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b} What is the probability that a baby will have a low birth weight.

V(A< 7500) = normcdk (-1g99, 2500, 3300,57¢) = \ G302
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c) What proportion of babies will weigh more than 10 pounds (4536 grams)?2

PLA 2 4H19) = nomedf (4530, 1 1, 3300,570) = [.O\5 1]

d) Determine the probability that a randomly selected baby will weigh between 3000 and 4000

% © (5000 £ x < 000N = notmedb{ 300, Heoo, 3300, 5776)= |5 ]

e) In 2004, there wereftl 112, 052 live births in the U.S. Use your answer to part (d), to predict the
number of bobles with a birth weight between 3000 and 4000 grams.
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6. A Normal Distribution has a mean of 50.2 and a standard deviation of 2.2.
a) Draw and label the Normal model.
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b) Whatis the robablh’ry that The seIecSedxvo!ue falls between 45.8 and.52.4¢

. th%i e GHLYY = 155 #8418 = 15

(\ x c) Whatis the proboblh’ry that the selected x value falls between 48 cm 26.8¢
§LXe568) = 15T, mSy.005 = [ (S

WY d) Whatis the proba |||’ry that t exvolue is at most 54.6¢ e

N X £ 5H.6) = | - (0255 +,005) = |95

e) Whatisthe przbabih’iy that the x value is at least 52.42 , X

PLX 2 524~ (354 0235 +.0015




